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QUESTION 1

Which three are ways enterprise applications can interact with Oracle Internet of Things (IoT) Cloud Service? 

A. send commands/messages 

B. insert/update/delete data 

C. subscribe to data 

D. query data 

E. subscribe to commands/messages 

Correct Answer: ABD 

 

QUESTION 2

When creating integration in Oracle Integration Cloud (OIC), a visual mapper enables your element nodes between
applications by dragging source element nodes onto target element nodes. Which statement is NOT true about the OIC
data mapper functionality? 

A. When you navigate to the mapper, the Expression Builder launches in user-friendly mode by default when you select
a target element. 

B. The data structure for the target service is always displayed on the right side in the Designer view 

C. All transformation mapping use extensible Stylesheet language (XSL) 

D. All source and Target data objects will be represented internally as JSON structures 

E. In the Designer view, the Sources section contains the data structures of all available data objects to include
integration metadata, tracking variables, global variables, and integration property values 

Correct Answer: D 

 

QUESTION 3

In Oracle Integration Cloud (OIC)Process, You can use human tasks to model user interaction with the application. You
can assign the human task to a specific user, to a group of users, to users with a certain role, or to the same user that
already acted on the instance for a certain role. 

When assigning the human task based on a dynamic expression, which is a valid option ? 

A. You can use an expression to calculate a shared role, but not users or groups. 

B. You can use an expression to calculate a specific user, but not a group or shared role. 

C. You can use an expression to calculate the user or group. Bur not a shared role 

D. You can use an expression to calculate the user, group, or a shared role. 
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E. You can use an expression to calculate the group or shared role, but not specific users. 

Correct Answer: D 

Explanation: https://docs.oracle.com/en/cloud/paas/integration-cloud/user- processes/configure-human-
tasks.html#GUID-DCF4AE05-0DDF-4472-BB39- C632B4749C25 

 

QUESTION 4

What Mapper function can you use to get the lookup value in Mapping Builder? 

A. GetLookupValue 

B. FindLookupValue 

C. LookupValue 

D. SearchLookupValue 

Correct Answer: C 

Reference:https://docs.oracle.com/en/cloud/paas/integration-cloud-service/ocmap/using- oracle-mapper.pdf 

 

QUESTION 5

What are the two types of analytics processors in Oracle Internet of Things (IoT) Cloud Service? 

A. Batch Analytics Processors 

B. Natural Analytics Processors 

C. Static Analytics Processors 

D. streaming Analytics Processors 

Correct Answer: AD 

Explanation: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/understanding- analytics-processors.html he type of
analytics processor to use depends on the nature of your data: Streaming Analytics Processors Use streaming analytics
processors to analyze high volumes of rapidly changing data streamed from your sensors and devices. Streaming
analytics processors arecontinuously running from the moment you deploy them, waiting for your devices to stream
data. See Creating Streaming Analytics Processors. Batch Analytics Processors Use batch analytics processors to
analyze large volumes of batch data. Typically, batch analytics processors process data stored in the Oracle NoSQL or
other data sources. Unlike streaming analytics processors they are not continuously running, they only run when you
call them using the REST API they expose. 
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